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TERE104E 20 16 0 2 0 2 16| 2,261 3 1 2 9 31| 143,884
TER1E 30 23 1 3 0 3 35| 2,393 4 2 10 22 88| 222,435
TERi124 32 20 1 8 0 3 27| 1,386 0 0 2 14 44| 156,538
TERR13E 18 13 0 0 0 5 20| 1,309 0 1 2 10 34| 45212
TERi145 33 22 0 8 0 3 23| 941 0 1 4 16 66| 100,364
TERR155 27 20 0 4 0 3 34| 1,746 0 1 2 16 52| 92,592
TERi164E 23 14 0 4 0 5 15 1,221 0 0 2 5 15[ 78,164
TER17E 33 17 0 6 0 10 18| 775 0 1 4 10 29| 58923
TERi184 23 14 1 5 0 3 18| 475 1 3 2 14 48| 22,590
TERE194 28 16 2 4 0 6 14| 2,408 15 0 2 10 39| 388,379
ERE205F 26 18 0 5 0 3 34| 4,422 0 3 6 29 76| 121,830
TRE214E 24 15 0 6 0 3 22 982 0 1 2 17 55| 53,162
k224 15 10 0 4 1 (] 15| 1,010 0 0 7 9 37| 132,863
= [E AT 7 3 0 3 1 0 71 127 0 0 0 4 21 3,604
S [E BT 3 3 0 0 0 0 3| 486 0 0 6 3 10| 45558
&IiTHT 2 2 0 0 0 0 3| 251 0 0 1 2 6| 18142
IR FHET 3 2 0 1 0 0 2| 146 0 0 0 0 0| 65559
TRE234 15 10 0 3 0 2 12| 336 0 1 0 1 5 37,178
=EHfT 6 4 0 1 0 1 4 16 0 1 0 0 0 3,945
F1FE BT 4 2 0 2 0 0 3] 165 0 0 0 1 5] 24,638
E=Jan:il) 4 3 0 0 0 1 4 111 0 0 0 0 0 6,736
IR FET 1 1 0 0 0 0 1 44 0 0 0 0 0 1,859
ERE244F 15 7 0 7 0 1 21| 5,994 0 1 4 9 27| 494867
= [E AT 4 2 0 2 0 0 8| 2,610 0 1 2 5 10| 346,544
1. FE #T 3 0 0 3 0 0 0 0 0 0 0 0 0 362
ZIHT 5 3 0 2 0 0 6] 612 0 0 2 3 13| 51,965
IR FHET 3 2 0 0 0 1 71 2,772 0 0 0 1 4] 95996
TRE255 19 18 0 1 0 0 19| 283 0 2 1 12 41 34573
=[E AT 2 2 0 0 0 0 3] 144 0 0 0 1 5] 16,299
1 FE BT 7 6 0 1 0 0 6] 139 0 1 1 4 6] 10874
E-San:il) 8 8 0 0 0 0 8 0 0 1 0 4 19 7,227
IR FET 2 2 0 0 0 0 2 0 0 0 0 3 11 173
FERE264 18 13 0 (] 0 5 18| 517 0 0 3 11 31| 44,004
= [EHT 4 3 0 0 0 1 5] 228 0 0 0 4 10| 13,261
FLFE AT 6 5 0 0 0 1 8| 240 0 0 1 6 16| 27,982
ZIHT 7 5 0 0 0 2 5 49 0 0 2 1 5 2,761
IR FET 1 0 0 0 0 1 0 0 0 0 0 0 0 0
FRR274 15 9 0 2 0 4 20( 1,209 (] 1 0 10 29| 82567
=[EH@T 5 3 0 0 0 2 3 8 0 1 0 1 1 1,951
FLFE AT 6 3 0 2 0 1 10| 845 0 0 0 7 20| 45503
ZIHT 2 2 0 0 0 0 2| 222 0 0 0 0 0] 33326
IR FHET 2 1 0 0 0 1 51 134 0 0 0 2 8 1,787
k284 13 11 0 0 0 2 12| 323 (] 0 2 6 20| 22,303
=[EH@T 4 4 0 0 0 0 4 0 0 0 1 3 10 1,783
FLFE T 3 2 0 0 0 1 2 56 0 0 0 1 2| 15870
ZIHT 4 4 0 0 0 0 5] 267 0 0 1 2 8 4,584
IR FET 2 1 0 0 0 1 1 0 0 0 0 0 0 66
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B = g8 2 142 142|  144] 143| 148] 139 33 36 36 34
; v B % (kR #F W) 476 478 483 483 486 480
ETEHEBRCTBBEHR 6 6 5 5 4 4 0 1 2 1
KER/EHRCTEHEHR 3 3 3 3 3 3 0 1 1 1
FLIHEBRCTEBHER 1 1 1 1 1 1 0 1 0 0
i |BIELIHERRTEEER 1 1 1 1 1 1 0 0 1 0
r;j g [ # B 3 3 3 3 3 3 0 1 1 1
‘E fﬂ OB I # = 2 2 2 2 2 2 0 0 1 1
71|l # 2 8 B = 6 6 6 6 6 6 0 2 2 2
%ﬁ & g B 4 4 4 4 4 4 1 1 1 1
g N BB oAR YT 5 5 5 5 5 5 2 1 1 1
T oMo ED B B E 20 19 18 20 21 20 10 2 4 4
fs}ﬁs EBEBHAKLTEHE 26 26 26 26 26 26
MNEFHARCTHEHE 7 7 7 7 7 7
;—? N B og oK R v T 27 27 27 27 27 27
HoOok o o#® (o & ) 2,658 2,662 2,665 2,668 2,670 2,680 0| 1,105| 431 1,144
3} K KX Zz P) 717|  718| 723|728 7271|741 o 208 227/ 216
H OB R 8 B B 74 73 65 66 1A 70 11 19 22 18
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ERHI104E | 1,616 1 1 8| 353 47 15 199 11 21| 812 141 0 0 7
ERI4E | 1,751 7 5 3 3717 52 22| 236 9 29| 841 167 3 0 0
1248 | 1,889 3 0 5| 354 54 27| 255 9 33| 907| 237 1 0 4
ERISAE | 1,921 0 5 3| 331 34 29| 273 11 35| 1,017 179 2 0 2
ER144E | 1,873 2 1 8/ 336 34 33| 236 4 32| 992| 191 0 0 4
JERI154E | 1,985 1 0 7 322 25 24| 250 5 47| 1,072| 226 0 0 6
ER164E | 2,075 2 0 3| 340 41 19| 263 6 43| 1,161 187 1 0 9
ERI74E | 2,380 3 2 3| 355 32 39| 356 11 46| 1,295 228 0 1 9
ER184E | 2,294 2 0 6| 312 39 27| 337 11 36| 1,330 187 5 0 2
ER194E | 2,353 2 0 6| 321 52 42| 321 8 62| 1,322| 211 4 0 2
FER204E | 2,288 6 0 4| 298 27 27| 360 3 43| 1,291 218 1 0 10
= [EHT 710 4 0 4 66 8 6/ 111 1 30| 367| 109 0 0 4
L FE ET 725 2 0 o 113 11 11 113 1 6| 429 38 0 0 1
&ITH 602 0 0 0 79 4 5 98 1 7| 338 67 0 0 3
35 BT 251 0 0 0 40 4 5 38 0 0 157 4 1 0 2
ER214E | 2,327 2 0 8| 294 21 27| 336 8 51| 1,322| 256 0 0 2
= [EHT 755 1 0 8 64 7 13| 120 3 34| 376|127 0 0 2
L FE ET 701 0 0 o 110 6 9 97 0 8| 423 48 0 0 0
&ITH 634 1 0 0 88 5 1 86 4 8 366 75 0 0 0
Yz BT 237 0 0 0 32 3 4 33 1 1 157 6 0 0 0
FER224E | 2,534 3 0 12| 288 30 31| 358 8 56| 1,489 258 1 0 0
= [EHT 768 0 0 7 52 8 18| 127 3 31 391 131 0 0 0
L FE ET 775 2 0 1] 104 11 9 98 4 12| 485 49 0 0 0
&ITH 715 1 0 2 94 7 4 99 1 8 422 76 1 0 0
Yz BT 276 0 0 2 38 4 0 34 0 5 191 2 0 0 0
234 | 2,630 1 1 5 292 30 24| 402 4 38| 1,580 230 3 0 20
= [EHT 808 1 0 5 62 10 8| 131 2 19| 439 118 0 0 13
L FE ET 819 0 0 0 106 12 12| 126 0 8 522 29 3 0 1
&ITH 712 0 1 0 84 6 3| 107 1 9/ 418 80 0 0 3
35 3+ BT 291 0 0 0 40 2 1 38 1 2 201 3 0 0 3
245 | 2,707 2 1 6| 304 25 17| 406 10 23| 1,648 257 1 0 7
= [EHT 783 1 0 5 47 5 70 131 2 7| 444] 130 0 0 4
L FE ET 862 0 1 0 126 8 8| 129 4 9/ 540 34 1 0 2
&ITH 756 1 0 1 90 7 1 103 2 4| 456 90 0 0 1
35 3+ BT 306 0 0 0 41 5 1 43 2 3 208 3 0 0 0
254 | 2,613 1 ] 8| 308 30 22| 393 1 40| 1,559 246 1 0 4
= [EHT 786 0 0 6 62 5 8| 129 0 23| 433|117 0 0 3
S FE E7 819 1 0 11 109 9 9/ 130 1 7| 523 29 0 0 0
HIiTHET 712 0 0 1 87 10 0 89 0 6| 419 99 1 0 0
35 3+ BT 296 0 0 0 50 6 5 45 0 4] 184 1 0 0 1
ER264E | 2,782 2 0 4| 311 33 24| 413 11 29| 1,699 247 0 0 9
= [EHT 895 0 0 3 50 8 8| 153 2 8 510 147 0 0 6
S FE E7 866 1 0 11 102 11 12| 124 6 11 570 26 0 0 2
&ITHT 695 1 0 0 92 7 1 92 3 8 420 71 0 0 0
35 3+ BT 326 0 0 0 67 7 3 44 0 20 199 3 0 0 1
ER275E | 2,870 1 0 4| 358 38 32| 418 11 20| 1,739 226 0 0 23
= [EHT 861 1 0 3 54 15 10/ 125 4 6/ 499| 123 0 0 21
L FE BT 921 0 0 11 142 11 16| 137 4 4| 582 23 0 0 1
&ITHT 752 0 0 0 106 8 4| 106 2 6 443 76 0 0 1
IR FET 336 0 0 0 56 4 2 50 1 4 215 4 0 0 0
284 | 2,992 2 0 2| 335 45 27| 442 6 19| 1,783 303 0 0 28
= [EfT 914 1 0 1 59 13 12| 148 1 10| 489 159 0 0 21
AL BT 901 0 0 0 121 15 12| 143 3 2| 572 27 0 0 6
&ITHT 801 1 0 1 93 13 2| 103 2 6/ 464| 116 0 0 0
IR BT 376 0 0 0 62 4 1 48 0 1 258 1 0 0 1
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R4 588 6.479 13 0.143 735 8.099
= [EHT 121 5.099 1 0.042 154 6.490
LR BT 216 6.844 7 0.222 262 8.301
T 167 7.321 4 0.175 210 9.206
I BT 84 6.639 1 0.079 109 8.615
124 605 6.635 15 0.165 773 8.478
= [EHT 135 5.716 5 0.212 164 6.944
L FE BT 248 7.816 3 0.095 311 9.801
&ITHT 141 6.115 3 0.130 184 7.980
35 BT 81 6.342 4 0.313 114 8.926
TERE134E 571 6.214 5 0.054 744 8.097
= [EHT 134 5.657 0 0.000 172 7.261
LR BT 211 6.621 2 0.063 282 8.849
&ITH 146 6.228 2 0.085 194 8.275
IR F BT 80 6.205 1 0.078 96 7.446
TERE145E 521 5.646 7 0.076 656 7.108
= AT 116 4934 2 0.085 148 6.295
S, g BT 202 6.292 3 0.093 259 8.068
&ITHT 134 5.662 1 0.042 170 7.183
I BT 69 5.307 1 0.077 79 6.076
TERE164 530 5.720 5 0.054 662 7.144
= [EHT 106 4532 2 0.086 130 5.558
LR BT 210 6.480 2 0.062 259 7.992
&ITHT 137 5.752 1 0.042 172 7.221
35 BT 77 5.901 0 0.000 101 7.740
TERE164E 524 5.641 9 0.097 665 7.159
= [EHHAT 105 4536 2 0.086 125 5.400
L FE ET 204 6.244 1 0.031 271 8.295
&ITHT 150 6.255 4 0.167 196 8.174
IR BT 65 4.962 2 0.153 73 5573
R4 575 6.229 12 0.130 717 7.767
= [EHT 109 4753 1 0.044 137 5.973
L FE BT 224 6.902 7 0.216 274 8.442
&ITH 149 6.217 2 0.083 190 7.927
IR F BT 93 7.180 2 0.154 116 8.955
ER185F 527 5.696 5 0.054 677 7.318
TERE194E 511 5527 6 0.065 656 7.095
ER205F 450 4874 11 0.119 585 6.337
TERE214E 454 4930 10 0.109 555 6.027
ERR224F 378 4112 6 0.065 446 4852
TRE234F 386 4.209 6 0.065 473 5.158
245 367 4010 2 0.022 433 4732
T RE254F 337 3.697 7 0.077 392 4.300
264 260 2.862 3 0.033 306 3.369
TERE274 248 2.749 4 0.044 299 3.314
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ER1E 597 53 23 3 9 187 105 190 27
=EHfT 121 23 13 35 42 8
S, ] BT 225 53 3 9 53 25 77 5
HiTHET 167 77 33 52 5
IR FET 84 44 12 19 9
ERL124F 617 65 17 4 12 197 83 221 18
= [EHT 135 17 18 33 64 3
S, i) BT 260 64 4 12 Al 11 91 7
LT 141 1 62 25 49 4
IR F BT 81 46 14 17 4
TERR13E 578 61 16 10 7 200 96 172 16
=EfT 134 16 24 38 51 5
LR BT 218 61 10 7 68 16 50 6
HiLET 146 69 30 44 3
IR F BT 80 39 12 27 2
FERR145F 527 68 17 2 7 177 88 150 18
= AT 116 17 8 36 47 8
L FE ET 210 68 2 7 56 23 51 3
LA 133 68 23 39 3
I F T 68 45 6 13 4
ERE154 535 60 19 3 5 174 104 155 15
=EfT 106 19 6 32 42 7
S, fiE) BT 215 60 3 5 43 35 65 4
HiTHET 137 74 29 32 2
IR F BT 77 51 8 16 2
TRE164F 537 50 22 4 4 168 87 187 15
=EfT 105 22 9 24 44 6
S, i) BT 208 50 4 4 55 22 Al 2
EHiTHT 150 58 35 52 5
IR F BT 74 46 6 20 2
ERR175E 578 62 26 4 3 197 80 180 26
= [EHT 109 26 8 21 47 7
S, fiE) BT 227 62 4 3 57 21 73 7
HiTHET 149 76 24 41 8
IR F BT 93 56 14 19
ERE184F 531 54 17 4 4 166 95 158 33
195 517 66 25 3 6 168 66 160 23
FRE204 455 44 10 3 5 148 82 139 24
k214 457 54 15 4 3 128 78 154 21
FRR224F 382 46 13 0 4 123 69 112 15
T RE234F 389 49 12 3 3 119 64 121 18
FRR2445F 369 54 11 0 2 121 64 98 19
FRE254 342 44 7 1 5 116 63 93 13
TRE264 262 31 9 2 1 91 52 64 12
ERR275 251 26 1 0 4 77 43 72 18
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FHT| & E |WERE| & B B o= K| FE K |RKRE|ZOM
TR1TE 2 1 0 1 0 0 0 0 0 0
FERi 184 2 0 2 0 0 0 0 0 0 0
FERE 194 9 0 3 3 0 0 0 2 0 1
B 204F 1 1 0 0 0 0 0 0 0 0
FER214F 3 0 2 0 0 0 0 0 0 1
R 224F 3 0 0 1 0 0 0 1 0 1
R} 234 11 0 6 1 2 0 0 0 0 2
gl 244F 3 2 0 0 1 0 0 0 0 0
254 3 1 2 0 0 0 0 0 0 0
A 264F 2 1 0 0 1 0 0 0 0 0
F 274 1 0 0 0 0 0 0 0 0 1
284 7 0 2 2 0 1 0 0 0 2
2 EREHRHM B

=z 3 E Al
Py = - .

N I FE L et s o | B B |0
FER174 13 0 0 1 0 0 0 1 9 2
SHIEE 9 0 0 0 0 0 0 0 9 0
FRL184F 9 0 0 0 0 0 0 1 8 0
SHIEE 7 0 0 0 0 0 0 0 7 0
ER195E 7 1 3 0 0 0 0 1 1 1
SHIEE 5 1 1 0 0 0 0 1 1 1
TR 204 9 4 3 0 0 0 0 0 0 1
SHIEE 3 2 1 0 0 0 0 0 0 0
ER214E 6 1 1 0 0 0 0 2 0 2
SHIEE 2 0 1 0 0 0 0 0 0 1
FR224F 9 2 0 0 2 0 0 3 0 2
SHIEE 3 1 0 0 0 0 0 2 0 0
FRE234 0 0 0 0 0 0 0 0 0 0
SHIEE 0 0 0 0 0 0 0 0 0 0
245 2 0 2 0 0 0 0 0 0 0
SHIEE 0 0 0 0 0 0 0 0 0 0
255 3 0 1 0 0 0 0 0 1 1
SHIEE 1 0 0 0 0 0 0 0 1 0
FRR265F 2 0 1 0 0 0 0 1 0 0
SHIEE 1 0 0 0 0 0 0 1 0 0
275 3 0 0 0 0 0 0 2 1 0
SHIEE 2 0 0 0 0 0 0 1 1 0
K284 7 1 3 0 0 0 0 0 1 2
SHIEE 2 0 0 0 0 0 0 0 1 1
XMEZRIOVWTMMR T OERIF24ThY RSN, BEH - EHEBELRTE

XMEHRIUZDWTIE, B HBALASEREL TR HHDH,
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TRITEE 93| - 93| 16 10 1 1 0 0 3 0 1 3 2 0] 60 0 12
= [EfT 35 - 35 3 1 0 1 0 0 1 0 0 3 2 0 18 0 9

LR BT 18| - 18 4 4 0 0 0 0 0 0 0 0 0 0 14 0 0
LR 301 - 30, 9 5 1 0 0 0 2 0 1 0 0 0 18 0 3

YR HHHT 101 - 10 0 0 0 0 0 0 0 0 0 0 0 0 10 0 0
TRISEE 1211 - 121 14 7 6 1 0 0 0 0 0 0 " of 70 5 21
TRI9EE 13| - 13| 14 10 1 2 0 0 0 1 0 2 1 0] 26 6 64
TR20FE 264 - 264f 38 28 3 2 0 0 2 3 0] 96 1 0| 158 29| 42
TRAEE 246 23| 223/ 94 33 14 4 0 0 41 2 0 0 0] 66 20 41 25
T2 E 269 18] 251f 111 36 20 3 0 0 51 1 0 0 0] 62 6 52 38
TR23FEE 206 191 187|| 126 38 24 7 0 1 54 2 0 0 0] 38 4 20 18
TR24FE 203 17| 186f 89 27 19 0 0 1 42 0 0 8 0] 39 26( 21 20
TR25FE 246 20 226l 123 22 28 0 0 1 67 5 0 4 0] 59 19 141 27
TR26FE 204 121 192 90 18 21 4 0 3 37 4 3 5 0] 36 27 25 21
TR21EE 234 11 223f 123 25 33 9 0 0 55 1 0 0 0] 54 24 9 24
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